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"~ Note: 8Marks for each question, Answer five only.
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Q1: A. Name the network devices depending on the OSI layers. Which one of them is
used for network segmentation? (5)

B. in mesh topoiogy the installation and reconnection of devices are difficuit.
Explain the reason. (3)

Q2: Compute the first and second DHCP renew request time (in hours) of an IP
with lease time 20 hours? What will be the device IP if there is no response at. «
20 hours?

Q3: Give the purpose for each of the following in an IP header
A)Fragmentation offset B) Flag C) Type of Service D) Protocol

Q4: Compute the needed time (in seconds) to transmit a 5 MB file in a 3Kb/s
connection.

Q5: A. Name the types of networks?. Which one is more secure? explain the reason.(4.)

B. In mesh topology the installation and reconnection of devices are difficult.
Explain the reason. )

Q6: Write the binary representation of an IP header with IPVv6, TTL=19, type of
service 6 and identification number=187. Note: write first 75 bits of the header,
and set the other properties to 'X'.
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Note: Answer Five question only. For each question 12 marks.

Q1) Define each of the following: 1) ALU. 2) Pipeline. 3) Peripheral. 4) Throughput.

Q2) Do each of the following:

1.

2

5.

6.

Put the value 3ABA, in (H)(L.)?
Put the (ABCD) in (L)?

Copy the (E) to (B)?

Put (E) in (A123)?

Swap (2AAA) with (ABCD)?

Copy (3FFF) to (BFF1)?

Q3) A-Why the new architecture of the computer contains cache memory? What are the operations of cache memory?

B- How the computer can execute number of independent program concurrently?

Q4) A-Assume you have the following instruction

A*(Ci+B,)/D; fori=1,2,3,..,8

Write the content of the registers in Pipeline?

B-How can increase the processing speed with parallel processing?

Q5) A- What are the material that used for create the RAM? Describe the types of RAM?

B- State and explain the M.J Flynn's computer classification?

Q6) A-Assume you have the following instruction

X=((Z) AND (K) + 1*1.4)/(K++)

Design an execution unit for performs the above instruction?

B- Write an algorithm for executes a program that stored in HDD as fast as possible?

v tﬁ -
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Good Luck
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Q1\\ what is the constructor and its types .with an example using each type?

s 5 Marks

02\ write ve+-+ program to input (id, name, degree) for (10) students and print the
" formation for student that have min degree? #-:5 5 Ma yK'S

Good Luck
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Q1) Write a program in C++ language to cipher text by using stream cipher.

(10 mark

Q2/ Write a program in C++ language to print the product output from (round 1) in

Simplified DES algorithm (the plain char =S ,k1=10010011).

: rl
a1 il
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(10 marks)

Good Luck
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Q1) Write a program in C++ language to cipher text by using stream cipher.

(10 mark.

Q2/ Write a program in C++ language to print the product output from (round 1) in
Simplified DES algorithm (the plain char =S ,k1=10010011).
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(10 marks)

Good Luck
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Note: Answer all questions.

Q1) A-Write a VB code for zoom a BMP color image using K Order method? Assume k=3 (5 marks)
Q1) B- Write a VB code for convert a color image to binary image? Assume threshold is 10. (5 marks)
Q2) Write a VB code for compute the edge to the green band from the color image using sobel operator. (10 marks)
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Note. Answer for six questions only(10 mark)

Q1/Describe the function of internet protocol

Q2/define the flash memory then write the characteristics of it.
(Q3/What is the function of a CPU?

Q4/Describe the differences between compiler and assembler.
(Q5/What are the differences between HAN and CAN
Q6/Describe the SMP.

Q7/Answer for two only.

I. Subtract 01001111, from 0110001 15 using signed-magnitude

s

Add 10010011, to 00001101, using signed-magnitude arithmetic.

o

(9S]

Add 23,5 to _8pusing one’s complement .

A (s e gelad) aed (i

Goodd Luck
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Note. Answer for six questions only(106 mark)

Q1/Describe the function of internet protocol

Q2/define the flash memory then write the characteristics of it.

Q3/What is the function of a CPU?

Q4/Describe the differences between compiler and assembler.

Q5/What are the differences between HAN and CAN

Q6/Describe the SMP.

Q7/Answer for two only.

.

]

Subtract 010011115 from 011000115 using signed-magnitude
Add 10010011, to 00001101, using signed-magnitude arithmetic.

Add 23,5 to _8gusing one’s complement .
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~ Note: Answer Five questions only.

Q1) Compute the edge to the following image, using Laplace method

Q2) Assume you have the following image

Do each of the following:

1. Segment the fourth quarter from the image.

2. Convert the first quarter to negative.
3. Give the second quarter more dark.

Q3) Zoom the following image using K-order method, assume k=3.

Q4) Assume you have the following image,

20 [ 33 | 190 | 220
40 | 255 | 200 | 187
50133 | 159 | 199
21 | 56 | 176 | 208
11 23 |45 |54 |56 |77
83 | 41 110 | 190 | 32 | 29
240 | 255 | 65 | 87 |43 | 87
19 |98 |80 |64 |33 |67
26 |77 |73 | 206 | 220 | 46
2551255145 |56 |78 |11
33 [ 57 |87
16 | 66 | 255
39 | 120 | 49
20 | 100 | 255 200 | 190 | 25 110 | 66 | 13
55 |30 | 190 33 |50 | 89 30 | 17| 68
170 | 36 | 93 64 |79 | 88 57 | 23| 245
R G B

Based on transformation methods, perform color segmentation for the first row only?
Q5) A- What are the types of image representation? Describe it?
QS5) B- What is computer imaging? What are the categories of it’s?
Q6) Assume you have the following image

NENEAEIFE
77186523
4(7|5]/6|1]4
614265
6|7[4]3]1]8
713[4]1]6]5

Enhancement the image using histogram equalization?
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(8 marks)

(8 marks)

(8 marks)

(8 marks)

(4 marks)
(4 marks)
(8 marks)
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NOT:ANSWER (4) QUESTIONS ONLY
Q1. Give the meanings of the following words .

2P il Al
/ Al Slladay Gl g Glaatall a,le LIS
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1.accomplish 2. collaborate 3.adjourn 4. address 5. mandatory
6. strategy 7. wrap up 8. recommend 9. objectives  10. brainstorm
11. like 12. absent 13.mystery 14.puzzled 15. disturbed

(15 MARK)

R R R R R R R R R N R R T R RN R A N T R A R T T A RN A RN AR AN A RARARNARARANAARAARTR T AR o hrohhdrdhohtedhhs

Q2. Answer the following questions in a form of composition . The title is ""khawla Bint-ul-
Azwar.

1. Where did khalid Ibn-ul-Waleed fight ?

2. Who was the solider that participate with him in battle ?

3.What did the women do for the soldiers ?

4. Who was Dirar's sister and what she watched in the battle ?

5. What did she dress to find her brother ?

6. Where did the enemy take her brother ?

7. What did khawla , do at last ? (15 MARK)

vvvvvvvvvvvvvvvvvvvvvvvvvvv

Q3. Make a complete sentence for each of the following .

1. say (to someone ) 2. tell + personal object 3. There will be
4. (it) to talk a bout time 5. afternoon as a noun
6. not ........ any more 7. use (yet) in a negative sentence
8. phrasal verb + preposition 9. phrasal verb + object
10. as + noun 11. a relative clause tells us which thing a speaker means
12. in case + infinitive 13. already in the middle of a sentence
14. ( work ) as a noun 15. ( well ) as adjective
(15 MARK®

uuuuuuuuuu

Q4. Answer the following questions in a form of composition . The title is (the advertisement )
1.Where did a large crowd gather after the traffic stopped ?
2.Did every one look puzzled or not ? Could thousands of birds be heard singing or not?
3.What did two policemen see high up on a wall? ~
4.Did they climb up or not ? How had the noise been caused ?
- 5.What did the police ask the advertisers to dc ? Had the loud noise stopped the traffic
or not ? (15 MARK)

.............................................................................

Q5. What are the main differences between Adjectives and adverbs and what are the
Adjectives that ending with (ing-ed) ? Mention all of them with examples .
| N (15 MARK)
“\ll - \'. b
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NOT:ANSWER (4 ) QUESTIONS ONLY
Q1. A. What are the main differences between "

enough " and " too " ? Explain fully with
Examples .

(8 MARK)

B. What are the main two cases that we should use "so that' to purpose ?

Explain fully with examples .

nnnnnn

- Q2.A. Give the meanings of the following words & expressions .

1. will you 2. go down 3.doup 4.do without S. take up
6. straight 7. sediment 8. roof 9. exhaustion 10, panting

(10 Mark)
B. What is meant by the " C

ard catalogue " ? Describe it in details .

Q3. A. Give the past and the past participle of the following verbs
l.write 2.loss 3.play 4. get S.begin 6. bring 7. think 8. go 9.do 10. make

(10 MARK)

B. What are the main differences between "each " and " every " ? Explain fully with

Examples .

Q 4. A. Mention carefully the way in which oil and gas begin to form .You should be ¢

areful
That the order is very important .

(5 Mark)
Make a complete sentence for each of the following :

L. "for" to express purpose
3. use "why" to ask about reason
5.if present simple , future tense .

2. had better not + infinitive
4. use "when" to ask about time

Q 5. A. What are the main subjects of exclamation? Mention them with examples

(SMARK)

a composition ? Mention them carefully .

(10 %t\RK )
Yo . A ,:; =
s — =X

aalall

B. What are the main steps of writing
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Q1) Define the following (Choose 15 only ) (10 Marks)
l) Operating Svstem 2) Compile and Go loader 3) Assembler
5) Compiler 6) BootStrap Loader 4) System Call

()2) Choose Two Only (10 Marks)
A. Explain the Concepts of Linker in details. (5 Marks)
B. Draw figure explains the General Loader Scheme. (5 Marks)

C. Draw figure explain the Process states (without suspend) . (5 Marks)

(3) Choose Two only (10 Marks)
A. Draw figure explains the life cycle of process (with suspend state) (5 Marks).
B. Draw figure explains the flow Control of System calls. (5 Marks)

C. what is the disadvantage of Compiler and Go Loader. (5 Marks)

04) Choose Two only (10 Marks)
A. Explain the interrupts in details. (5 Marks )
B. Explain the System call in details (3 only). (3 Marks )

C. Explain the File attributes (5 only). (3 Marks).




